m B Al B K S IE R

(B750)
o % B BE(Ke) R B & B E(%) FHEE
1 (& < IS (A 2170, 244 13.3] 11 21,750, 037 3.6 80
2 t= F =3 210, 400 10.3| 6 26, 554, 036 4.4 126
3 ¥ ¥ ~N 4 205, 382 10.1] 2 44, 414, 989 1.3 216
4 = L - A 189, 842 9.3 8 23, 940, 647 3.9 126
) I A L A 139, 733 6.9 12 21, 390, 533 3.5 153
6 X h L & 133, 814 6.6 15 18, 001, 904 3.0 135
17 b R 92, 834 4.6 14 19,657, 654 3.2 212
8 " A L & 86, 997 4.3 13 20,771, 353 3.4 239
9 | = El 11,876 3.9 4 32, 344, 236 5.3 450
10 | + k 68, 496 3.4 1 47,453, 634 1.8 693
(AR - =3 65, 263 3.2/ 5 28, 508, 091 4.7 437
12 | 2 P 92,133 2.6 18 14, 839, 683 2.4 281
B2 o & £ T 44,010 2.2 16 17,657, 806 2.9 401
14 Z w 3 Y 37,720 1.9 7 24,670, 190 4.0 654
IFE 5 A £ 35 37,698 1.9 9 23, 496, 859 3.9 623
16 = = <% k 33, 268 1.6/ 3 33,993, 456 5.6 1,022
m) e — < v 30, 230 1.5 10 22, 261, 809 3.1 136
8 7 o0 v a3 ) — 26, 007 1.3 20 13, 651, 377 2.2 525
19 | » A 23,082 1.1 33 3,074,534 0.5 133
20 < ES D 3 21, 394 1.1 24 9, 650, 547 1.6 451
21 F B * 21, 209 1.0 25 6,329, 718 1.0 298
22 |2 5 17,784 0.9 17 16, 465, 864 2.1 926
23 & L = ¥ 15, 856 0.8 19 14,025, 761 2.3 885
24 | L C 14,955 0.7) 22 11,392,710 1.9 162
25 | 7 AN Ly &3 12, 555 0.6 28 9, 348,916 0.9 426
26 |13 - 1,171 0.5 26 9,809, 131 1.0 520
21 h A - A 11,152 0.5 30 4,360, 672 0.7 391
28 F Uy U A 8,192 0.4 34 3,019, 734 0.5 369
29 I A Iz < 8,107 0.4/ 2 12,101, 054 2.0 1,493
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e % B BE(Ke) [WEG B & #E E(%) FHRE
30 ES 3 AN 1,613 0.4 31 4,063, 635 0.7 034
31 & & Ly &3 1,165 0.4 38 1,749, 281 0.3 244
2 L » A F L 6, 320 0.3 29 4,502, 262 0.7 112
3B L 1) — o, 864 0.3 35 2,834,622 0.5 483
4 | bH [+ g 9, 150 0.3 27 9, 645, 180 0.9 982
% L & 5 A & 4, 304 0.2 32 4,000, 714 0.7 930
36 A& 2 (E & 3,315 0.2 40 1,411, 668 0.2 426
37 | & & H =x 3,293 0.2 42 1,327,698 0.2 403
¥+ F 0 WP 2,958 0.1 36 2,103,413 0.4 914
39 | X £ 2,922 0.1 23 9,867, 852 1.6 3,913
40 A U 7 F T — 1,598 0.1 54 410, 066 0.1 251
“nlrn v b B =X 1,236 0.1 53 922,935 0.1 423
2 A +F A 1,065 0.1 44 1,204, 769 0.2 1,131
8 F A AN A 1,022 0.1 50 133, 687 0.1 n8
4 7 R N F A R 982 0.0 39 1,434,996 0.2 1,461
4 | F W= [+ 8717 0.0 46 1,004, 691 0.2 1,146
46 | W b h 852 0.0 98 250, 258 0.0 294
47 | @ El | 164 0.0 49 860, 955 0.1 1,127
448 | & Y 694 0.0 4 1,374,516 0.2 1,981
49 | X t ) 641 0.0 37 2,490, 264 0.4 3,885
N T ¥ v L v b 935 0.0 51 647,676 0.1 1,211
o1 9 z 922 0.0 52 035, 140 0.1 1,025
52 ' A & S5 & W 909 0.0 61 181,148 0.0 356
3 | D F H#H = 383 0.0/ 67 16, 345 0.0 199
o | H 3 ) 328 0.0 48 952,992 0.2 2,905
95 L L 5 M5 L 321 0.0 45 1,060, 485 0.2 3,243
o6 | IZ < < 3 285 0.0 57 265, 188 0.0 933
ol | ¥y v a— L4 274 0.0 55 357, 440 0.1 1,305
°8 | ¥ z 5 AN 245 0.0/ 65 105, 354 0.0 430
99 | A E 184 0.0/ 64 111, 996 0.0 609
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o % B BE(Ke) [WEG B & #E E(%) FHRE
60 | /N = 7 8 176 0.0 47 988, 039 0.2 5614
61 = © X A & 5 118 0.0 956 311, 580 0.1 2,641
62 | F 2 Iz [+ 12 0.0 43 1,228, 500 0.2 10,969
63 | E — A 110 0.0/ 59 247, 860 0.0 2,253
64 & 4] 65 0.0 60 215, 406 0.0 3,314
65 | £ QO 1 ¥ o6 0.0 63 112,050 0.0 2 00t
66 = A ® 35 0.0 66 100, 526 0.0 22872
67 & S5 M B L 2] 0.0/ 70 39,214 0.0 1,452
68 | LI X | 9 0.0 68 42, 251 0.0 4,69
69 L € 1 0.0 69 40, 942 0.0 5849
0 | H & (6} 6 0.0 62 142,182 0.0 23,697
n  t +F o < o 0.0 71 6, 156 0.0 1,231
1 TOMEEXRSE 4,244 0.2 3 1,512, 250 0.2 356
2 ToMEDE 2,107 0.1 1 2,295,574 0.4 848
3 % o M £ Y H 1,879 0.1 5 965, 607 0.1 301
4 = 0t R X HE 1,737 0.1 4 142,106 0.1 428
9 ZTDMEFOIYE 1,433 0.1 2 1,997, 569 0.3 1,115
6 & o f R X & 20 0.0 7 44,734 0.0 2237
T % o fr F % 18 0.0/ 6 45,144 0.0 2,508

g ES & 2,037,195 100.0 609, 909, 111 100.0 299
(R

o % B BE(Ke) [EG B & #E E(%) FHRE
1 Al s & 928, 388 33.8| 2 167,941,188 28.8 318
2 |\ H A & 485, 968 31.0) 1 171,982, 386 29.5 354
3 Y A Z H 276,076 17.6 3 91, 423, 566 15.7 331
4 N A + 98, 306 6.3 9 26,010, 407 4.5 265
o AN L & 57,290 3.7/ 6 24,167,916 4.1 422
6 L £ v 17,834 19 6,917,584 1.1 365
7w 5 Z H 17,079 1.1 4 37,214, 991 6.4 2,183
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(R%)

o % B BE(Ke) [WEG B & #E E(%) FHRE
8 |7 L n 14,7709 0.9/ 10 9,010, 552 0.9 341
9 A E S H 12, 401 0.8 7 20, 009, 700 3.4 1,614
0 4 0o v H 12,052 0.8/ 8 1,710,276 1.3 645
nmi a4 v7y 7L 8,720 0.6 12 2,703, 509 0.5 310
12 94 7)L=Y 8,199 0.5 11 4,241, 382 0.7 o17
13 NLooT7HLoY 4,250 0.3 13 1,820,178 0.3 428
14 TJL—FoN—Y 3,332 0.2 14 1,197, 288 0.2 359
1| W 5 5 < 1,728 0.1 15 970, 199 0.2 561
T2 o bt B 8 13,721 0.9 1 9,223,729 1.6 672
2 ZTOMBFERFTRE 4,379 0.3 2 3,570, 593 0.6 815
3 o f# R = 861 0.1 3 512,136 0.1 995
4 ZTOMIZRZERE 286 0.0 4 223, 452 0.0 181

e = H 1,565,579 100.0 582,571,032 100.0 372
(SO0, 0T &)

m % B #E(Ke) HEO ZH & @ k(%) P
T % * L 29, 168 66.1 2 3,876,678 25.3 133
2 S OB H 9,957 126 3 2,349, 464 15.3 423
3 3 L » & 1,900 4.3 1 4,066, 200 26.5 2,140
4 12 A 12 » (< 1,133 2.6 6 285, 612 1.9 252
S 2 1 v o F 064 1.3] 5 479, 378 3.1 850
6 o mI M 256 0.6 9 163, 152 1.1 637
T & 2 4 181 0.4 4 819, 396 5.3 4,527
8 # == X = 129 0.3 7 257,183 1.7 1,994
9 M A £ S5 W % 92 0.2 8 253, 400 1.7 2,754
10 | 7= e & 3 81 0.2 11 15,167 0.5 928
m e F 2 v 2 A 49 0.1 10 96,120 0.6 1,962
12 |F L W = It 4 0.0/ 12 22,594 0.1 5649
1T £ o e m T & 2,531 5.8/ 2 679, 460 4.4 268
2 £ O fthhn T B X 1,160 2.6 3 928, 806 3.4 456
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(SOR, MITM)

m & HE(Ke) B LE (%) T
3 SN :B-7A% ) S 185 184,512 5.1 999
4 TofmIRE 420 342, 868 2.2 816
5 T 0t EgER 100 249, 480 1.6 2,49

509 . B 44,116 15,329,470 | 100.0 3417
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